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-------------------------------------

-----------
04/12/08 12:06
04/12/08 12:06
04/12/08 12:06
04/12/08 12:07
...
04/12/08 12:10
04/12/08 12:13
04/12/08 12:18
...
04/12/08 12:49
04/12/08 12:50

The first disconnect:
--------------------
05/12/08 12:13
05/12/08 12:14
05/12/08 12:14
05/12/08 12:14
05/12/08 12:14
05/12/08 12:15
05/12/08 12:15
05/12/08 12:15
05/12/08 12:15
05/12/08 12:16
05/12/08 12:16
05/12/08 12:16
05/12/08 12:16
05/12/08 12:17

The day it didn't disconnect:
----------------------------
08/12/08 12:08
08/12/08 12:08
08/12/08 12:09
08/12/08 12:09
08/12/08 12:09
08/12/08 12:09
08/12/08 12:10
08/12/08 12:10
08/12/08 12:10
08/12/08 12:10
08/12/08 12:11
08/12/08 12:11
08/12/08 12:11

Yesterday's disconnect:
------------------------
16/12/08 12:08
16/12/08 12:08
16/12/08 12:09
16/12/08 12:09
16/12/08 12:09
16/12/08 12:09
16/12/08 12:10
16/12/08 12:10
16/12/08 12:10
16/12/08 12:10
16/12/08 12:11
16/12/08 12:11
16/12/08 12:11

Today's disconnect:
--------------------
17/12/08 12:15
17/12/08 12:15
17/12/08 12:16
17/12/08 12:16
17/12/08 12:16
17/12/08 12:16
17/12/08 12:17
17/12/08 12:17
17/12/08 12:17

Extracts from 'Router Stats' log files:

Switchover:

Rx-Noise= 10.5 Tx-Noise= 21 Rx-Sync= 8096 Tx-Sync= 448 Rx-Attenuation (db)= 30.0 Tx-Attenuation (db)= 16.5
Rx-Noise= 10.5 Tx-Noise= 21 Rx-Sync= 8096 Tx-Sync= 448 Rx-Attenuation (db)= 30.0 Tx-Attenuation (db)= 16.5
Rx-Noise= 10.5 Tx-Noise= 21 Rx-Sync= 8096 Tx-Sync= 448 Rx-Attenuation (db)= 30.0 Tx-Attenuation (db)= 16.5
Rx-Noise= 0 Tx-Noise= 0 Rx-Sync= 0 Tx-Sync= 992.1

Rx-Noise= 3 Tx-Noise= 22 Rx-Sync= 8096 Tx-Sync= 448 Rx-Attenuation (db)= 29.0 Tx-Attenuation (db)= 16.5
Rx-Noise= 0 Tx-Noise= 0 Rx-Sync= 3 Tx-Sync= 992.1
Rx-Noise= 3 Tx-Noise= 5 Rx-Sync= 3 Tx-Sync= 1000 Rx-Attenuation (db)= 3 Tx-Attenuation (db)= 17.0

Rx-Noise= 6.5 Tx-Noise= 8 Rx-Sync= 12211 Tx-Sync= 1000 Rx-Attenuation (db)= 33.0 Tx-Attenuation (db)= 17.0
Rx-Noise= 6.5 Tx-Noise= 8 Rx-Sync= 12211 Tx-Sync= 1000 Rx-Attenuation (db)= 33.0 Tx-Attenuation (db)= 17.0

Rx-Noise= 6.5 Tx-Noise= 7.5 Rx-Sync= 11705 Tx-Sync= 976 Rx-Attenuation-(db)= 33.5 Tx-Attenuation-(db)= 17
Rx-Noise= 6.5 Tx-Noise= 7.5 Rx-Sync= 11705 Tx-Sync= 976 Rx-Attenuation-(db)= 33.5 Tx-Attenuation-(db)= 17
Rx-Noise= -7 Tx-Noise= 7.5 Rx-Sync= 11705 Tx-Sync= 976 Rx-Attenuation-(db)= 33.5 Tx-Attenuation-(db)= 17
Rx-Noise= 0 Tx-Noise= 0 Rx-Sync= 3 Tx-Sync= 992.5 Rx-Attenuation-(db)= 0 Tx-Attenuation-(db)= 0
Rx-Noise= 3 Tx-Noise= 5 Rx-Sync= 3 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 3 Tx-Noise= 5 Rx-Sync= 3 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 3 Tx-Noise= 5 Rx-Sync= 3 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 3 Tx-Noise= 5 Rx-Sync= 11814 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 33 Tx-Noise= 5 Rx-Sync= 11814 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 33 Tx-Noise= 7 Rx-Sync= 11814 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 33 Tx-Noise= 7 Rx-Sync= 11814 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 6 Tx-Noise= 5 Rx-Sync= 11814 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 6 Tx-Noise= 5 Rx-Sync= 11814 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17
Rx-Noise= 6 Tx-Noise= 5 Rx-Sync= 11814 Tx-Sync= 952 Rx-Attenuation-(db)= 33 Tx-Attenuation-(db)= 17

Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0
Rx-Noise=8 Tx-Noise=9.5 Rx-Sync=11581 Tx-Sync=810 Rx-Attenuation(db)=33.0 Tx-Attenuation(db)=17.0

Rx-Noise=4.5 Tx-Noise=6 Rx-Sync=13893 Tx-Sync=855 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=4.5 Tx-Noise=6 Rx-Sync=13893 Tx-Sync=855 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=4 Tx-Noise=6 Rx-Sync=13893 Tx-Sync=855 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=4 Tx-Noise=6 Rx-Sync=13893 Tx-Sync=855 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=4 Tx-Noise=6 Rx-Sync=13893 Tx-Sync=855 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=4 Tx-Noise=6 Rx-Sync=13893 Tx-Sync=855 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=4 Tx-Noise=6 Rx-Sync=13893 Tx-Sync=855 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=0 Tx-Noise=0 Rx-Sync=3 Tx-Sync=992.5 Rx-Attenuation-(db)= Tx-Attenuation-(db)=
Rx-Noise=0 Tx-Noise=0 Rx-Sync=3 Tx-Sync=992.5 Rx-Attenuation-(db)= Tx-Attenuation-(db)=
Rx-Noise=3 Tx-Noise=5 Rx-Sync=12463 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5
Rx-Noise=6.5 Tx-Noise=6 Rx-Sync=12463 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5
Rx-Noise=6.5 Tx-Noise=6 Rx-Sync=12463 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5
Rx-Noise=6.5 Tx-Noise=6 Rx-Sync=12463 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5

Rx-Noise=5.5 Tx-Noise=5.5 Rx-Sync=12035 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5
Rx-Noise=5.5 Tx-Noise=5.5 Rx-Sync=12035 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5
Rx-Noise=5.5 Tx-Noise=5.5 Rx-Sync=12035 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5
Rx-Noise=-4 Tx-Noise=5.5 Rx-Sync=12035 Tx-Sync=855 Rx-Attenuation-(db)=33.5 Tx-Attenuation-(db)=17.5
Rx-Noise=0 Tx-Noise=0 Rx-Sync=3 Tx-Sync=992.5 Rx-Attenuation-(db)= Tx-Attenuation-(db)=
Rx-Noise=3 Tx-Noise=8 Rx-Sync=3 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=3 Tx-Noise=8.5 Rx-Sync=3 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=3 Tx-Noise=9 Rx-Sync=3 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=3 Tx-Noise=9 Rx-Sync=3 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
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17/12/08 12:17
17/12/08 12:18
17/12/08 12:18
17/12/08 12:18
17/12/08 12:18
17/12/08 12:19

Rx-Noise=3 Tx-Noise=9 Rx-Sync=3 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=3 Tx-Noise=9 Rx-Sync=3 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=3 Tx-Noise=9 Rx-Sync=11866 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=6 Tx-Noise=9 Rx-Sync=11866 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=6 Tx-Noise=9 Rx-Sync=11866 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5
Rx-Noise=6 Tx-Noise=9 Rx-Sync=11866 Tx-Sync=835 Rx-Attenuation-(db)=33.0 Tx-Attenuation-(db)=17.5


